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Question Number : 1 Question Id : 6232172173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Discussion method can be used when

Options:



1 the topic 1s different

the topic 1s easy
2.

. the topic 1s very difficult

the topic 1s known

Question Number : 2 Question Id : 6232172174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of the following 1s not a teaching aid?
Options:

1 16 mm film projector

Working model of photosynthesis
z.

Tape records
3.

Computer system
4.

Question Number : 3 Question Id : 6232172175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The quality of teaching 1s reflected
Options:

1 by the quality questions asked by students

by the duration of sentence maintamed i the class
2.

. by the pass percentage of students



by the attendance of students in the class
4

Question Number : 4 Question Id : 6232172176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The detention system in primary schools may reflect the

Options:
| Dbassrate m the classroom

, absenteeism of students

drop-out rate increase
=

) disinterest among the students

Question Number : 5 Question Id : 6232172177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The team teaching has the potential to develop
Options:

the habit of supplementary teaching of each other

competitive spirit among students
co-operation among the students

highlighting the gaps in each other’s teaching
4

Question Number : 6 Question Id : 6232172178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In open learning system, the teacher’s role 1s to

Options:



guide the students of their interest
supply material needed
eive coaching through a centre

leave the students to learn on their own

Question Number : 7 Question Id : 6232172179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

One of the most powerful factors affecting teaching is related to

Options:
prevailing political situation

economic status of the student
social system of the country

education system

Question Number : 8 Question Id : 6232172180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

In which teaching method learner’s participation is made optional and pro-active?
Options:
1 Project method

Buzz session
2.

Discussion method
=



Brain storming session
4.

Question Number : 9 Question Id : 6232172181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Effectiveness of teaching has to be judged in terms of
Options:

student’s mterest

learning outcomes
course coverage

use of teaching aids in the classroom
4

Question Number : 10 Question Id : 6232172182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Formulation of hypothesis may not be necessary in

Options:

; normative studies

experimental studies
2.

historical studies
=,

, survey studies

Question Number : 11 Question Id : 6232172183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The information about population 1s called a parameter while the information

corresponding to a sample is called

Options:



; Inference
; Universe

Sampling design
=

Statistic
4.

Question Number : 12 Question Id : 6232172184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Reliability of a research result implies its

Options:
usefulness

uni (UEIIESS

verifiability
3.

validity
4

Question Number : 13 Question Id : 6232172185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A good researcher lays his hands on
Options:

| any area of his mterest

, many areas and ftries to understand them at basic level

a specific area and tries to study 1t in great details



a specific area and tries to study 1t in minute details
4,

Question Number : 14 Question Id : 6232172186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The usual sequence of steps in doing action research 1s

Options:

reflect, observe, plan, act
1

plan, act, observe, reflect

plan, reflect, observe, act
3.

act, observe, plan, reflect
4,

Question Number : 15 Question Id : 6232172187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which one of the following 1s a non-probabilistic method of sampling?
Options:

Stratified sampling

Purposive sampling
2.

Systematic sampling
=

Simple random sampling
4.

Question Number : 16 Question Id : 6232172188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The appropriate sequence of steps of research that a researcher has to follow is
A) Collection of data
B) Listing of the objectives of research

L.} Methodology to be adopted

D) Data analysis
E) Results and discussion
F) Identification of the research problem

Options:

F,C. B DA E

EB.a 1O 8

2

E A8 G D.E

2

e RO A DE

Question Number : 17 Question Id : 6232172189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

The research stream that has an immediate application 1s
Options:

Action research

Empirical research
2.

Fundamental research

Experimental research
4,

Question Number : 18 Question Id : 6232172190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Ethical norms in research do not mvolve guidelines for

Options:

patenting policy
1.,

data sharing policy
2.

copy right policy
3.

format of thesis

Sub-Section Number: 2
Sub-Section 1d: 62321774
Question Shuffling Allowed : Yes

Question Id : 6232172191 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (19to 27)
Juestion Label - Comprehension



Read the following passage and answer the questions given:

Education and ambition by themselves would have taken people nowhere without an
expanding economy. Perhaps, even, the expanding economy explained the shift in Indian
education. For Pravas, an engineer. the expansion had started some time before
independence, when the old British emphasis on law and order (especially after the Indian
Mutiny of 1857) had been modified by the idea of development.

Many people were sucked into that process. There was an explosive growth in India
around 1930. It built momentum around 1947, had a big growth thereafter, and is now
slowing down. In 1962, when I was thinking of universities and a career, I had a choice
of professions and institutions. People today have to struggle hard. But these things have
a positive side.

“The average aspiration of the Indian 1s to grow under a shadow-and this 1s all right
as long as someone else throws the shadow. In concrete terms, this means you look for
employment, you try to get info structures created by other people. That’s how we got
governed in the first place. The attitude is “As long as the local environment is the same,
I don’t care who 1s running things at the top”. I read something in a paper some time ago.
It was to the effect that, before the British came to India, the Indians were like bees in a
garden. And that’s fine as long as someone else looked after the garden. And of course
the Britishers became both the owners of the garden and the gardeners, the malis — with
those other guys, the bees. going happily from flower to flower’.

“What about the positive side of the struggle today?’

“That shadow area I talked about 1s becoming congested now. It is forcing people to

go out on their own. It 1s forcing them to be entrepreneurial.’

Sub questions

Question Number : 19 Question Id : 6232172192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What 1s fundamental for the growth of a nation?

Options:



Education

1.

Ambition
2.

Economy
=3

g Law and order

Question Number : 20 Question Id : 6232172193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

What did the British emphasize on after the Indian Mutiny of 1857?
Options:
The 1dea of development
1.

Law and order
o

Ancient Indian model of education

) Expansion of the Empire

Question Number : 21 Question Id : 6232172194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

When did choice of professions and institutions become comparatively easier?
Options:
After 1857
Around 1962

Around 1930



After 1947

Question Number : 22 Question Id : 6232172195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
What 1s the average aspiration of the Indian?
Options:

Employment in structures created by other people
.,

To be governed by the British

Expanding economy
=3

) Self employment

Question Number : 23 Question Id : 6232172196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O
According to the passage, what 1s the concern of Indians?
Options:

The rulers at the helm of affairs

; Newspaper 1tems

Engineering education
=,

[ocal environment
4.

Question Number : 24 Question Id : 6232172197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Who are compared to bees in a garden?

Options:



The British officers

The Indians
5 The gardeners

) Owners of the garden

Question Number : 25 Question Id : 6232172198 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Who become the owners of the garden and the gardeners?
Options:

Only the bees

. The Indians

. Only the flowers

The Britishers
4

Question Number : 26 Question Id : 6232172199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
What 1s the positive side of the struggle?
Options:

Indian find shelter
1.

Indians love green gardens
Z.

Indians are forced to be entrepreneurial
3.



, Indians could freely roam around

Question Number : 27 Question Id : 6232172200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

What do you understand by “That shadow area ...... 1s becoming congested now™?
Options:

Densely populated
14

Heavy competition for employment 1n structures created by other people
2.

] Shadow becomes darker

) Thinly populated

Sub-Section Number: 3
Sub-Section 1d: 62321775
Question Shuffling Allowed : Yes

Question Number : 28 Question Id : 6232172201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
The non-verbal communication is also known as
Options:

Speaking communication
1

Verbal communication

Body language
3.

Interpersonal communication

Question Number : 29 Question Id : 6232172202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The communication about the relationship among people is called
Options:

1 Interpersonal communication

Meta-communication

Speaking communication
3.

Media communication
4

Question Number : 30 Question Id : 6232172203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Communication with touch behaviour called
Options:

1 Aesthetics
; Proximics

Eugenics
3.

) Haptics

Question Number : 31 Question Id : 6232172204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Effective communication imvolves
Options:

One-way process
14

Two -way communication
2.



Two-way communication with feedback
3.

Two-way communication and Two-way communication with feedback
4,

Question Number : 32 Question Id : 6232172205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
One of the following 1s not related to communication cycle.

Options:

Sender
Message
Channel

i Noise

Question Number : 33 Question Id : 6232172206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
“With words we govern peoples”, said by

Options:

John Dewey
1.,

Benjamin Disrael
2.

Rufford Murdock

3

Mc Greger
4.

Question Number : 34 Question Id : 6232172207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The number of ingredients involved i the Aristotle’s model of communication are

Options:

.q

1.

e

Question Number : 35 Question Id : 6232172208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

‘Shared Experience’ is considered to be a key element in communication emphasised by
Options:

John Dewey

, Aristotle

] David Berlo

John Locke

4

Question Number : 36 Question Id : 6232172209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The “Nobel’ style of communication i1s on one of the following elements.

Options:

1 Rehetoric

Non-assertion



Persuation

) Authority

Question Number : 37 Question Id : 6232172210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following numbers have a pattern. Identify the pattern and fill the blank.

165,195,255 285,

Options:

345

Question Number : 38 Question Id : 6232172211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The following words have a pattern. Identify the pattern and fill the blank.
CDJP. EEIQ, GFGS, N < =

Options:

IGDU
IGDV
2

JGDU

GJIDV
4,



Question Number : 39 Question Id : 6232172212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The following words have a pattern. Identify the pattern and fill the blank.

ACE, 1JJ, SQO, BXT,

Options:

KKK

i

JEK
ZAB

KEY

4

Question Number : 40 Question Id : 6232172213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The following items have a pattern. Identify the pattern and fill the blank.

B2E, D5H, F12K, H27N,

Options:

J56I

1.

J58Q

i

164Q

=

Q62]

4.

Question Number : 41 Question Id : 6232172214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
A man leaves city A at 6.00 am and reaches city B at 10.00 am. Another man leaves city

B at 8.00 am and reaches the city A at 12.00 noon. They will meet at time

Options:



9.00 am

9.30 am

9.45 am

10.00 am

Question Number : 42 Question Id : 6232172215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

An year ago, the ratio between Anil’s and Sunil’s salaries was 3:5. The ratio of their
individual salaries of last year and present are 2:3 and 4:5 respectively. If their total
salaries for the present year are X 43,000, the present salary of Anil is

Options:

< 20,000
< 19,600

; < 18,400

< 18,000

Question Number : 43 Question Id : 6232172216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The present expenditure of an employee on food and other items 1s X 2,.590. There is an

increase of prices of 10% on food items and 15% on other items. If the ratio of an
employees expenditure on food items and other items 1s 2:5, by how much should his
expenditure be increased on these items in order that he may maintain the same level of

consumption as before?

Options:



1.

X 360-50
Z.

X 382-50
=,

X 410-75

Question Number : 44 Question Id : 6232172217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The profit earned by selling an article for X 900 is twice the loss incurred when the same

article 1s sold for X 600. At what price should the article be sold to make 30% profit?

Options:

%730

X 810
z.

R 840

3

X910
4,

Question Number : 45 Question Id : 6232172218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
What percent simple mterest does a man get for his money when in discounting a bill due

10 months hence. he deducts 10% of the amount of the bill?

Options:
2
11—
3
1.
12 l
3



3=

5% 3
2

14=

. B

Sub-Section Number: 4
Sub-Section 1d: 62321776
Question Shuffling Allowed : No

Question Number : 46 Question Id : 6232172219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

If the conclusion of an argument follows from its premise/premises conclusively, that

argument 1s called

Options:

Inductive argument
.,

Deductive argument
Z.

Analogical argument
3

Circular argument
4,

Question Number : 47 Question Id : 6232172220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In the following question Assertion and Reasoning statements are given. Based on that

choose correct answer.
Assertion (A) :  All teaching mmplies learning
Reason (R):  Leaming to be useful must be derived from teaching

Options:

1 Both (A) and (B) are true but (R) 1s not a correct explanation of (A)



. (A) 1s true but (R) 1s false

(A) 1s false but (R) 1s true

Both (A) and (B) are true; (R) 1s a correct explanation of (A)
4.

Question Number : 48 Question Id : 6232172221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Consider the two premises and the four conclusions drawn from those two premises.

Select the code that expresses conclusion drawn validly from the premises (jointly or
separately).
Premises:
A) All cows are mammals
B) No cats are cows
Conclusions:
I) No cats are mammals
IT) Some cats are mammals
III)  No cows are cats

IV)  No cows are non-manmals
Options:

Only I

1
[and II
2.

; I and IV

. IT and II1

Question Number : 49 Question Id : 6232172222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



You are given a statement followed by three assumptions numbered I, IT and III. You
have to consider the statement and the following assumptions, decide which assumptions
is/are implicit in the statement and choose your answer accordingly statement:
Statement: “If you are intelligent, we are the right people for improving your
performance” — An advertisement of a coaching centre.
Assumptions: I) Brilliant students prefer to join coaching classes
IT) Coaching classes help the students to improve their performance

IIT) No other institute provides such coaching

Options:

1 Only (I) and (II) are implicit
. Only (II) and (III) are implicit
] Only (I) and (III) are implicit

) All are implicit

Question Number : 50 Question Id : 6232172223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The following words have some relationships. The two blanks given are also having the
relationships. Identify the two words and choose the correct answer.

Fury: Ire : :

Options:

1 Convulsion : Spasm

, Amusement : Happiness

Joke : Laugh

3

, Dispassion : Emotion



Question Number : 51 Question Id : 6232172224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following words have some relationships. The two blanks given are also having the

relationships. Identify the two words and choose the correct answer.
Wine : Grapes : : Vodka :
Options:

1 Apples
Potatoes
y Oranges

i Flour

Question Number : 52 Question Id : 6232172225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following figure and answer the question below.

U
/Q [ — Married people
& S Q / = O — People living in joint family

A — School teachers

Married teachers who live in joint family are represented by the letter
Options:

P

1.

Q



Question Number : 53 Question Id : 6232172226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Study the following figure and answer the question below.

/\ [ 1 — Married people
O — People living in jomt family

A — School teachers

The people who live in joint family but are neither married nor teachers are represented

by the letter

Options:

Q

1.

R

Question Number : 54 Question Id : 6232172227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Study the following figure and answer the question below.

U
[ — Married people
/)\/A _—.
E | S / = O — People living 1n joint family

A — School teachers

Married people who live in joint family but not are school teachers, are represented by

the letter

Options:

S

1.



)
2, P
4, U

Question Number : 55 Question Id : 6232172228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The following data gives the number of smartphones sold by five stores P, Q. R. Sand T

in five months. Study this data carefully and answer the question below it.

et @ | g | R B X
January 126 | 121 | 105 | 103 13
February 100 (105 |[112 2 56
March 131 | 116 |95 115 | 215
April 170 | 166 |146 |165 | 282
May 225 234 (204 |295 |408

The total number of smartphones sold by store S in April and May together is what

percent of the number of smartphones sold by Store T in the same months together?

Options:
2
(}()E%
1. i
2y
59= %
o J
.
58; A0
53 -
a
S



Question Number : 56 Question Id : 6232172229 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The following data gives the number of smartphones sold by five stores P, Q,R.Sand T

in five months. Study this data carefully and answer the question below it.

T~ Store

Month ™__ £ Q " i »
January 126 | 121 (1095 | 163 | 113
February 100 105 | 112 |82 156
March 31 (116 |9 115 | 215
April 170 | 166 | 146 | 165 | 282
May 225 1234 (204 |295 |408

The total number of smartphones sold by all the stores together in July was 25% more
than the total number of smartphones sold by all the stores together in January. How

many smartphones were sold by all the stores together in July?

Options:
745
719
z.
710
3.
695
4,

Question Number : 57 Question Id : 6232172230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following data gives the number of smartphones sold by five stores P, Q. R. Sand T

in five months. Study this data carefully and answer the question below it.

T~ Store
Mﬂnthl%la““au 5 Q - . 9
January 126 | 121 (105 | 103 | 113
February 100 (105 |112 |82 156
March 131 [116 |95 115 | 215
April 170 [ 166 | 146 | 165 | 282
May 225 | 234 |204 | 295 |408

What is the ratio of the total number of smartphones sold by store Q 1n April and May

together to the total number of smartphones sold by stores R 1n the same month together?

Options:

6:7

1

3:7

i

87

=

L9

4.

Question Number : 58 Question Id : 6232172231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The graph given below gives the number of received e-mails read by five persons A, B,
C. D, E on Monday. This number includes the e-mails read and e-mails unread. Assume
that there are no pending e-mails carried forward from previous days to Monday. Data

relates to the number of mails received on Monday only.
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B C D
ORead e-mails HUnread e-mails

If the number of e-mails recerved by F was 38% more than that by C and the number of
e-mails read by F was 25% more than that unread by him, then how many e-mails were
read by F?

Options:

230

220

210

)
£
]

Question Number : 59 Question Id : 6232172232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The graph given below gives the number of received e-mails read by five persons A, B,
C. D. E on Monday. This number includes the e-mails read and e-mails unread. Assume
that there are no pending e-mails carried forward from previous days to Monday. Data

relates to the number of mails received on Monday only.

- 330
350 0

(%)
=

230

210

=
=2

8

20 4

1208

AR

AR

i

A B B D E
ORead e-mails @AUnread e-mails

The percentage of read e-mails for A and G (out of received e-mails for each of them)
were equal. If the number of e-mails received by G 1s 360, then how many e-mails were
unread by G?

Options:

. 235

Question Number : 60 Question Id : 6232172233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The graph given below gives the number of received e-mails read by five persons A, B,
C. D, E on Monday. This number includes the e-mails read and e-mails unread. Assume
that there are no pending e-mails carried forward from previous days to Monday. Data

relates to the number of mails received on Monday only.
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ORead e-mails HEUnread e-mails

Out of the e-mails read by B. 60% are from male customers. The number of unread
e-mails from female customers is 51 less than that of the read e-mails from female

customers. What 1s the number of unread e-mails from male customers?

Question Number : 61 Question Id : 6232172234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart shows the distribution of students in different courses. Study this

chart carefully and answer the following question. Total number of students = 6,800.

MBBS 21.6°

B .th;m
46.8

MBA 93.6°
B.Ed 64.8°

B.Tech 25.2°

How much less percentage (approximately) of students are there in MBBS course as

compared to B.Sc. course?

Options:

80%

60%

2

40%
3

Question Number : 62 Question Id : 6232172235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart shows the distribution of students in different courses. Study this

chart carefully and answer the following question. Total number of students = 6.800.

MBBS 21.6°

B .Phal;m
468

MBA 93.6°
B.Ed6458°

B.Tech 25.2°
If in MBA the ratio of boys to girls 1s 5:3 and 20% of boys are in Finance course, then

what 1s the number of boys in the Finance course?

Options:

Question Number : 63 Question Id : 6232172236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The following pie-chart shows the distribution of students in different courses. Study this

chart carefully and answer the following question. Total number of students = 6.800.

MBBS 21.6°

B .Pharm
46.8°

MBA 93.6°
B.Ed 64.8°

B.Tech 25.2°

The number of students in MBBS and B.Tech together is what percent of that in B.Ed

course’?

Options:

| 69.33%

72.22%
z.

76%

&

79.34%

Sub-Section Number: 5
Sub-Section 1d: 62321777
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 6232172237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which of the following refers to unsolicited e-mails in the form of advertising or chain

letters?

Options:



y Inbox

Trash
Spam

. Compose

Question Number : 65 Question Id : 6232172238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The tags placed on an animal to record and track in a database all of the animal’s

movements 1s knows as

Options:

POS

1.

PPS

2.

GPS

5

RFID

4,

Question Number : 66 Question Id : 6232172239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Internal communication within institutions is done through

Options:

WAN

1.

LAN

2,

EBB

i



4,

Question Number : 67 Question Id : 6232172240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The total number of command buttons on the title bar of an opened word processing

windows 1s
Options:

6

1.

L

T

Question Number : 68 Question Id : 6232172241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The complete (full)) form of USB as used in computer related activities 1s
Options:

Universal Security Block
1:;

Universal Serial Bus
2.

- United Serial Bus

; Ultra Security Block

Question Number : 69 Question Id : 6232172242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

The key on the QWERTY keyboard used to produce alphabetic upper case letters 1s

Options:



; Home
Tab

Num lock
Caps lock

Question Number : 70 Question Id : 6232172243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Which one of the following is not included 1n the basic functions of operating system?
Options:

1 Job control

, Job scheduling

Memory management
3.

Data mana gement

Question Number : 71 Question Id : 6232172244 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The temporary working memory of a computer system 1s the
Options:

arithmetic logic unit
1:;

flash memory
z.

random access mecmory
>,



read only memory
4,

Question Number : 72 Question Id : 6232172245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

A compiler is a software which converts

Options:

characters to bits
..

high level language to machine language
2.

;s words to bits

machine language to high level language
4.

Question Number : 73 Question Id : 6232172246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The aggregation of all eco systems on the earth 1s referred to as

Options:

1 Atmosphere

. Ecosphere

Stratosphere
=,

) Tonosphere

Question Number : 74 Question Id : 6232172247 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

In which of the following area does radiant dramnage fully develop?

Options:



On a pomt bar

Near a delta

Around an ox-bow lake

Around a volcano

Question Number : 75 Question Id : 6232172248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
When the environmental lapse rate is less than the adiabatic lapse rate, the atmosphere is

Options:

. Stable

, Moderately unstable

. High unstable

Neutral

Question Number : 76 Question Id : 6232172249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
When a disaster has occurred. the early action in a Disaster Management Plan could be:

Options:
1 Response and Rescue

, Warning and preparedness

Relief and Rehabilitation
izt

) Shelter and food supply



Question Number : 77 Question Id : 6232172250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Ecosystem diversity can be best studied using the

Options:

Topographical maps
1

, Geoinformatics

Geodesy
3.

Geology
4

Question Number : 78 Question Id : 6232172251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The geometric mean of the data 2. 4, 27 1s

Options:

Question Number : 79 Question Id : 6232172252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

Which of the following frequency region 1s part of sun’s radiation?
Options:

Visible frequency region
1:;

, Infrared frequency region



. Ultraviolet frequency region

; All of the other options

Question Number : 80 Question Id : 6232172253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In the standard hydrogen electrode, the pressure of hydrogen and hydrogen ion

concentration respectively are:
Options:

1 atm and 10 mol/L

10 atm and 1mol/L

z.

1 atm and 1mol/L

1 atm and S mol/L

Question Number : 81 Question Id : 6232172254 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
About half of the earth’s photosynthesis 1s carried out by
Options:

Cyanobacteria
s

Rainforest flora

Protists
=

, Marine phytoplankton

Question Number : 82 Question Id : 6232172255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The purpose of value education is best served by focussing on
Options:
cultural practices prevailing in the society
1

religious, moral practices and mstruction
" _

norms of conduct laid down by a social group
=,

concern of human values

Question Number : 83 Question Id : 6232172256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The design of 5+3+3+4 suggested by New Education Policy; 2019 (Draft) in which the
first stage of 5 year education 1s divided mto

Options:

pre-primary school and post primary school
1

primary school and pre-primary school
z. -

pre-primary school | class-I and class-II
=

pre-primary _class-IV and class-V
4

Question Number : 84 Question Id : 6232172257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

One of the following is not related to the aims of New Education Policy, 2019 (Draft)
Options:

1 Justice

Access



Equality

=

Equity

4.

Question Number : 85 Question Id : 6232172258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The number of languages recognized by the 8" schedule of constitution of India in the beginning

Options:
. 20

22
2

15
=,

12
4,

Question Number : 86 Question Id : 6232172259 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The Indian Education Policy 1s mostly influenced by the following method
Options:

1 Materialism

. Metaphysics

Empencism
3.

, Constructivism

Question Number : 87 Question Id : 6232172260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The leamming of outcomes envisaged by Benzamin Bloom has been confined to the

following three domains.
Options:

Precisim — Affective — Psychomotor
1

Psychomotor — Perceplin — Attitude
2.

Cognitive — Affective — Psychomotor
=

) Articulation — Perception — Affective

Question Number : 88 Question Id : 6232172261 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The document on Examination Reforms — A plan of action by UGC brought out to focus
mainly on

Options:

Choice-based credit system
.,

Open book system
2.

Internal assessment
=,

Assessment by students

Question Number : 89 Question Id : 6232172262 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The technic of ‘School Mapping” 1s used for
Options:

Mobilising finance for education
1:;



Mobilising people for education
Z.

- Establishing school committees

) Introducing new schools

Question Number : 90 Question Id : 6232172263 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Who said that “adult education as inclusive and of education of politics, of citizenship

and also of morality™?

Options:

. SN Mukerjee

Humayun Kabir
2.

K.G. Sayyidam
=,

Jakir Hussian
4,
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Number of Questions: 20
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Question Shuffling Allowed : Yes

Question Number : 91 Question Id : 6232172264 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



In ancient Olympic Games, “pankration” 1s an event that mixes

Options:
Wrestling and boxing

, Throwimg and Jumping
. Kicking and Dribbling

Chariot racing and polo

Question Number : 92 Question Id : 6232172265 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: O

The transfer effect of any learning situation is facilitative or debilitative according to
Options:

Pavlov

Singer
. Thormdike

Bucher

Question Number : 93 Question Id : 6232172266 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The sensory information gathered to achieve Kinesthetic awareness on our body i1s

known as
Options:
Proprioception
1.

Neuro Transmission

Autogenic Inhibition



Neuro Muscular Facilitation
4.

Question Number : 94 Question Id : 6232172267 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

Lordosis 1s characterized by an abnormality of the contours of
Options:

. Bony cage of the chest

; Neck and lower back

. Curve of the spine

. Shoulder and back

Question Number : 95 Question Id : 6232172268 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

A disease that spreads from one generation to another 1s known as
Options:

. Deficiency disease

Infectious disease

3 Communicable disease

Contagious disease
4,

Question Number : 96 Question Id : 6232172269 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

When young athlete’s trains exclusively on sprint exercises it leads to

Options:
Speed barrier



. Speed gain

. Speed endurance gain

Stride length gain
4.

Question Number : 97 Question Id : 6232172270 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Chi Square application 1s to
Options:

Compare the attitude in two different groups
1.

Compare the attitude in two equal groups
z

. Compare the dependent attributes

Compare the unequal occurrence of hypothesis
4,

Question Number : 98 Question Id : 6232172271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The Refugee Olympic Team competed at
Options:
Vancouver 2010

. London 2012

. Sochi 2014

Rio 2016



Question Number : 99 Question Id : 6232172272 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Immediate symptom of sprained ankle 1s
Options:

bleeding

1

edema

dislocation
=,

pain
4.

Question Number : 100 Question Id : 6232172273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The Law of Eftect is also known as

Options:

Law of satisfaction and annoyance

[Law of use and disuse

. Law of primacy

, Law of recency

Question Number : 101 Question Id : 6232172274 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Equated group design 1s called as
Options:
random group design
1.

. repeated group design



reverse group design
>,

parallel group design

Question Number : 102 Question 1d : 6232172275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
To teach an exercise where each position of the exercise 1s to be held and the accuracy

and precision of the position are to be emphasized 1s
Options:

Rhythmic command

5 Oral method

Re SPONSse COI111111a nd
>,

At-will method

Question Number : 103 Question 1d : 6232172276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Which type of tournament is best for extramural competitions with respect to the time

factor?
Options:

Challenge tournaments
1. =

Funnel tournaments

. Elimination tournaments

Round-robin tournaments

Question Number : 104 Question Id : 6232172277 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Wrong Marks: 0
Employees are empowered to make decisions and have space to showcase their

creativity and can work independent of their managers in
Options:

Democratic management
1.

Chaotic managment

Participative management
>,

Laissez-faire management
4

Question Number : 105 Question Id : 6232172278 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Theory of msight learning was propounded by
Options:

Thorndike

X Pavlov

Kohler

i Cattell

Question Number : 106 Question Id : 6232172279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Which one of the following is not the part of Hydrotherapy?
Options:

,  Wax bath

, Cryotherapy



. Whirlpool bath

Contrast bath

Question Number : 107 Question 1d : 6232172280 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Which of the following 1s not related to the School Health Programme?

Options:

Keeping health records
1

, Health education

Controlling of diseases
>,

Health inspection
4

Question Number : 108 Question Id : 6232172281 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

First step in Sport Management 1s
Options:

Budgeting
1.

Co-ordinating
2.

; Planning

Directing
4.

Question Number : 109 Question Id : 6232172282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The value of coefficient of correlation ranges between



Options:

00— 1.00
_(-1)-00
_1.00-2.00

(~1.00) — 1.00

4

Question Number : 110 Question Id : 6232172283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0
Cluster sampling 1s a type of
Options:

. Purposive sampling

Probability sampling
z.

Non-Probability sampling

Non-Random sampling

Question Number : 111 Question Id : 6232172284 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
When the reliability and validity of a test have already been established. it is called

Options:

, Objective test
, Teacher-made test

. Standardised test



Subjective test

Question Number : 112 Question Id : 6232172285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which one of the following is not a research tool?
Options:

1 Stop watch

. Video camera

- Questionnaire

, Survey

Question Number : 113 Question Id : 6232172286 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

N.C.T.E. means

Options:

, National Council of Teaching Education

, National Council of Technical Education

. National Council for Teacher Education

National Counselling in Teacher Education
4.

Question Number : 114 Question Id : 6232172287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Active site of energy production in the cell is

Options:

Mitochondria



Chromosomes
z.

5 Nucleus

p Golg1 apparatus

Question Number : 115 Question Id : 6232172288 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
In human body planes sagittal movements are

Options:

Abduction - Adduction
1.

Circular Movements
=

. Pronation - Supination

Flexion - Extension
4.

Question Number : 116 Question Id : 6232172289 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

The official languages of the Olympic Movement are

L English
I1. Italian
I11. French

IV. Greek

Find the correct combination.

Options:

I and 11



’ ITand IV

A and IV

1

[ and III

Question Number : 117 Question Id : 6232172290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Athletes use Beta blockers for the purpose of
I Lower Blood Pressure
II. Decrease Heart Rate
I1I. Eliminate fluids from the tissues
IV. Block Stimulatory Responds

Find the correct combination

Options:

I. IT and III

1

IL, IIT and IV

2

I IIand IV

e

[ III and IV

4

Question Number : 118 Question Id : 6232172291 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The Pan-Hellenic Games are
I. Isthmian Games
[I.  Olympic Games
III.  Plebeian Games
IV. Nemean Games

Find the correct combination.

Options:

LILIV

IE T
z.

LH I
>,

LA IV

4

Question Number : 119 Question Id : 6232172292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The ectomorph characteristics include

L Long arms and legs
I1. Small joints
I11. Low body fat
IV. Naturally strong

Find the correct combination.

Options:

I, IT and IT1

IL, IIT and IV



; I IIT and IV

, [ Tand IV

Question Number : 120 Question Id : 6232172293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Which of the following vitamins are easily destroyed (or) washed out during food storage

or preparation
I Vitamin- A
II) Vitamin- B
I11) Vitamin- C
IV)  Vitamin- D
Find the correct combination

Options:

I and 11

, IT and II1

II and IV

ITand IV

Question Number : 121 Question Id : 6232172294 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Which of the methods are of student-centred teaching style?
[.  Role-play
II. Lecture
III.  Bramstorming
IV. Command

Find the correct combination.

Options:

I and I1

| 1T and II1

2

" ITand IV

I and III

Question Number : 122 Question Id : 6232172295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

. According to Charles A. Bucher, the objectives of physical education include

i Physical development

II. Interpretive development
I11. Social development
. Motor development

Find the correct combination.

Options:

[ ITand IV

1



, I[I. IIT and IV
I III and IV

I. IT and III

Question Number : 123 Question Id : 6232172296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The three main Thorndike’s laws include

L. Law of sumilarity
1L Law of effect
I11. Law of exercise
IV. Law of contrast

Find the correct combination.

Options:

1 I and III

II and III

[and IV
=

I and IV

4

Question Number : 124 Question Id : 6232172297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The digested food material in small intestine 1s absorbed in
I. Duodenum
I1. Vilus
1. Thium
IV. Villi

Find the correct combination:

Options:

. I and III

ITand IV

2.

] IV and IIT

II and I

4.

Question Number : 125 Question Id : 6232172298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Angular velocity depends on:

[. Radius of rotation directly.
I1. Radius of rotation inversely.
[II. Linear velocity directly.
IV. Linear velocity indirectly.

Find the correct combination:

Options:

I and IIT

1.

. ITT and II



ITand IV

3

i IV and I

Question Number : 126 Question Id : 6232172299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Micronutrients include:
I. Carbohydrate
II. Minerals

III. Vitamins

IV. Fat

Find the correct combination.

Options:

I and I1

1.

, IT and III

III and IV

3

IV and 1

4

Question Number : 127 Question Id : 6232172300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



7. Criteria of a standard test involve
I. Reliability
II. Complexity
III. Variability
IV. Norm

Find the correct combination.

Options:

1 I and I1

; IT and III

I and IV

ar

IV and I
4

Question Number : 128 Question Id : 6232172301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
A first class lever can provide mechanical advantage in the form of
I. Speed
II. Strength
I11. Balance

I'V. Coordination

Find the correct combination
Options:

. Tl

LI IV



1 TV 1

IV L1

4.

Question Number : 129 Question Id : 6232172302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Intramural programme creates 1n students the sense of
[. Mass participation
IT. Selfishness
III. Enmity

IV. Maximum involvement

Find the correct combination:

Options:

L1

1

II, IV

2

LIV

L LN

4.

Question Number : 130 Question Id : 6232172303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Intrisic motivation includes
I. Enjoyment
II. Praise
[II. Accomplishment
IV. Awards

Find the correct combination:
Options:

: IIT & IV

o &I

1& 1M

=

, V&I

Question Number : 131 Question Id : 6232172304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Sesamoid bones are found in
I. Mastoid process
II. Pisiform of the wrist
III. First metacarpal bone
IV. Hyoid bone

Find the correct combination.

Options:

I and II

1

, I and III



; II and III

II and IV

4

Question Number : 132 Question Id : 6232172305 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Glucose 1 the form of Glycogen 1s stored 1n

I. Muscles
II. Pancreas
III. Liver

IV. Stomach

Select the correct answer:

Options:

I and 11

1

, IT and III

I and III

=

4 I and IV

Question Number : 133 Question Id : 6232172306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The Chronic diseases are
I. Cancer
II. Blister
II1. Stress fracture
IV. Diabetes
V. Strain

Find the correct combination

Options:

IT, II1, TV, V only

1.

I and IT only

2

I, III and IV only

3

I, II, TIT and IV only

4.

Question Number : 134 Question Id : 6232172307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Carbohydrate loading requires:
(1) Manipulation in diet
(11) Heavy exercise
(111) Dehydration
(1v) Starvation
(v) Niacin Intake

Find the correct combination

Options:



(D), (D), (i)
(i), (iii). (v)
(). (i), (v
ONCINGY

Question Number : 135 Question Id : 6232172308 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Pronation of the foot 1s a particular combination of

DAnkle dorsiflexion
IDSubtalar eversion
III) Supination
IV)Fore foot abduction

Find the correct combination:

Options:

LI and IV

; I IIT and IV

. II. IIT and IV

I, IV
4,

Question Number : 136 Question Id : 6232172309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The surplus energy theory of play states that
I) Energyfindsits releaseintheannless exuberant activities of play
IT) Thereisatendency to expand energy
IIT) Energy 1is spent for maintenance of life balance
VI) Energy 1s spent for lifestyle
Find the correct combination:

Options:

1. IT and ITI are correct

I and II are correct
2.

IT and III are correct

, Tand III are correct

Question Number : 137 Question Id : 6232172310 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Role of water in human body are
I) Provides Energy
IT) Regulates the Body
IIT) Excretion of waste Products
IV) Reduce the impact of friction on bones and organs

Find the correct combination

Options:

. [ IT and III



; II. IIT and IV

L HTand IV

1

, [ ITand IV

Question Number : 138 Question Id ;: 6232172311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Benefits of taper in training are
I) Increase muscle power
IT) Decrease conditioning
IIT) Improves performance
IV) Decrease psychological states

Find the correct combination

Options:
[ and II
, land III
ITand IV
IT and II1

Question Number : 139 Question Id : 6232172312 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The most useful applications of correlation are

§ Assessing relationships
IT. Assessing consistency
I11. Prediction
IV. Assessing differences

Find the correct combination

Options:

[ IT and III

1

, L IIT and IV

IL, IIT and IV

I ITand IV

Question Number : 140 Question Id : 6232172313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
What are the factor to be considered while preparing Physical Education time table in

schools
I. Parents Convenience
II. Availability of infrastructure and equipments
ITI. Principals Preference
IV. Availability of PE teacher

Find the correct combination.

Options:

[ & 11

[ & III

2



& IV
>,

J III & IV

Question Number : 141 Question 1d : 6232172314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Arrange the curriculum planning steps in a sequential order:
I. Defining the curriculum goals
II. Developing the curriculum Philosophy
III. Delineating objective for each goal

IV. Determining policies and resources

Find the correct sequence;
Options:

H 1 IV Il

)
D VO G 11 G A
, Iy @ I MW
LI IV I I

Question Number : 142 Question Id : 6232172315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The hierarchy of food pyramid 1s
I. Grams
III. Milk, Egg and alternatives.
II. Fruits and vegetables
IV. Fat/oil, salt and sugar

Find the correct sequence:

Options:

I. 10 H IV

L,

L L A

I AL L Ml

HE 1 I H

Question Number : 143 Question Id : 6232172316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
The reliability of questionaire is tested by using....
Options:

Cronbach alpha

Chi-square test
5

Distance measure
c3

y Mean value

Question Number : 144 Question Id : 6232172317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Johnson Test of Motor Educability involves
I. Straddle jump
II. Stagger jump
III. Stagger skip
IV. Forward skip

Find the correct sequence;

Options:

II II IV 1

I PV LI

z

1. 4L J1. IV
)

5 2% AL 1

Question Number : 145 Question Id : 6232172318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Wrong Marks: 0

The colours of rings in the Olympic Flag, from left to right, are
Options:

Black, green, yellow, blue. and red

Blue, yellow, green, black and red

] Blue, yellow, black, green and red

Black, yellow, blue, green and red
4.

Question Number : 146 Question Id : 6232172319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



The functional areas of sports management are
I.  Planning
II. Leading
III.  Evaluating
IV. Organizing

Find the correct sequence.

Options:

o Ry

1

1 ILHETY
- LIV, 11, 1i

H- L1 IV

4

Question Number : 147 Question Id ;: 6232172320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Arrange the following body parts in descending order:
I Cell
I1. Tissue
III. Organ
IV. System

Options:

1 [ I IIL, IV

NI T

2



LIV, 111

B 1% 113

4

Question Number : 148 Question Id ;: 6232172321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Arrange the following sequence for First Aid Management in sprain:
[. Compression
IL. Ice
III. Rest

I'V. Elevation
Options:

1 AL TN

, L II, L IV

; I III, I, IV

IV, I II, III

4.

Question Number : 149 Question Id : 6232172322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Arrange the following phases of periodization in correct sequence:

I. Preparatory phase
I1. Transition phase
[II. Competition phase

IV. Pre-competition phase

Options:



1 AL HE BV

CLOL IV, I

2

LIV, IIL I

=

, ILLIV, I

Question Number : 150 Question Id : 6232172323 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Which of the following 1s used for measuring the attitude

Options:

Rating
1

Ranking
z.

5 Likert scale

. None of the other options

Question Number : 151 Question Id ;: 6232172324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

The process of super-compensation involves
I. Optimum level of fatigue
II. Administering load
I1I. Rest and Recovery
IV. Compensation of energy

Arrange the above 1n proper sequential order:

Options:



II1IIII1IV

[ II IIT IV

2

11 ¥ 1 11
3

L) RN

4

Question Number : 152 Question Id : 6232172325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Find the correct sequential order of percussion i massage.
Options:
Hacking, Cupping, Tapping. Beating, Picking up

1.

Cupping, Beating, Hacking., Tapping, Picking up
2.

Tapping, Beating, Cupping, Hacking, Picking up
3

Hacking, Cupping, Beating, Tapping, Picking up

Question Number : 153 Question Id : 6232172326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Find the correct order in sequence of the first day of the heptathlon competition.
Options:

. 100m Hurdle, shot-put, High jump, 200 m

100 m Hurdle, High jump. shot-put, 200 m

z

. 100 m Hurdles, 200 m , shot-put , High jump



High jump, shot-put, 200 m, 100 m Hurdle
4.

Question Number : 154 Question 1d : 6232172327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Find the correct sequences of the anaerobic glycolysis.

Options:

Glycogen, Pyruvic acid, Lactic acid, Glucose
1.

, Lactic acid. Glucose, Pyruvic acid, Glycogen

. Glycogen. Lactic acid. Glucose. Pyruvic acid

Glycogen, Glucose, Pyruvic acid, Lactic acid
4.

Question Number : 155 Question Id : 6232172328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Select the correct sequence of sport.
1) Power sport
) Endurance sport

lil) Technical sport

IV) Combat sport

Options:
Highjump, Rowing, Judo. Diving
1.

Highjump. Rowing, Diving, Judo
2

Rowing, Diving, Highjump, Judo
3.



. Diving, Highjump, Rowing, Judo

Question Number : 156 Question Id : 6232172329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Arrange correct order of itelligence level from poor to excellent
1) Moron
11) Dull
111) Idiot

1v) Imbeciles

Options:

11 111 v 1
1

111 1 v 11

2,
= 1 11 1V 111

111 1V 1 11
4,

Question Number : 157 Question Id : 6232172330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Find the correct sequence of events that occur during transmission of nerve impulse :
a. Sodium influx
b. Change of membrane permeability
c. Action potential generated
d. Rupture of synaptic vesicle
e. Stimulation

f. Depolarization

Options:

et bade

1.



, e, b.td e

bited e
=

e.b.a.fc.d

4.

Question Number : 158 Question Id : 6232172331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Arrange 1 sequence of constitute of synovial joint from inner to outer :
(a) Hyaline cartilage
(b) Synovial membrane
(c) Synowial fluid
(d) Joint capsule

Options:

(@, (), (©). (@)
. (@, (0). (b). (d)
| @, (@, ©), (V)

, ). ©. (@ @

Question Number : 159 Question Id : 6232172332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O

Arrange the items of Johnson Basket ball test in a sequential order :
a. Dribble
b. Basket ball throw for accuracy

c. Field goal speed test

Options:



bh.a.c
4.

Question Number : 160 Question Id : 6232172333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Select the correct sequence of steps of research :

I. Formulation of Hypothesis
I1. Collection of data
ITI. Formulation of generalisation and conclusion
IV. Selection of Problem
V. Analysis of Data
VI. Design of Research
VII. Discussion on Hypothesis

Options:

INVLELIL NV WL VI
5 V1LV 1 VIL TV TH
] IV, ENE IV, NI 11

IV, Vil L 1LV, VIL 111

Question Number : 161 Question Id : 6232172334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Match List I with List II and select the correct option using the codes given below:

List I- Olympic Year | List II- Venue
I. 1936 1. London
II. 1948 2. Berlin
III. 1980 3. Seoul
IV. 1988 4. Moscow
Options:
T W= [-% -4

1.

I-2 II-4 II-1 1IV-3

I-4 1II-3 III-2 1IV-1

3.

I-2 II-1 II-4 1IV-3

Question Number : 162 Question Id : 6232172335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match List I with List IT and select the correct option using the codes given below:

List I- Muscles List II- Specifications
[.  Sartorius 1. Calf Muscle
II.  Deltoid 2. Fan Shaped Muscle
III.  Gastrocnemius 3. Longest Muscle
IV.  Pectoralis major 4. Trangular Muscle

Options:

I-4 1I-3 II-2 IV-1

29

I-3 1II-4 1II-1 IV -2



I-2 1II-3 II-4 IV-1

I-1 1II-2 II-4 IV-3

Question Number : 163 Question Id : 6232172336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match List I with List IT and select the correct option using the codes given below:

ListI List IT
I Stimulatory responses 1. Anabolic steroids
II.  Drug increasing alertness 2. Narcotic analgesics
III.  Psychological stimulation 3. Stimulation
IV.  Testosterone hormone 4. Beta blockers

Options:
, A=k -3 -2 IV-2
5 I-3 1I-4 1III-2 IV-1
) I-4 1II-1 1III-3 IV -2
) I-4 1I-2 II-3 IV -1

Question Number : 164 Question Id : 6232172337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Match List I with List IT and select the correct option using the codes given below:

ListI List IT
I.  Bar diagram 1. No dimensional diagrams
II. Histogram 2. Three dimensional diagrams
III.  Cubes 3. Two dimensional diagrams
IV.  Pictograms 4. One dimensional diagram

Options:

I-1 II-2 I1I-3 IV-4
I-4 1II-3 II-1 IV-2

31-4 m-2 1II-1 1IV-3

I-4 1II-3 II-2 IV-1

Question Number : 165 Question Id ;: 6232172338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match List — I with List — IT and select the correct answer from the codes given below:

List — 1 List —1I

a. Aorta 1. Brings oxygenated blood to heart from lungs
b. Pulmonary vein 11. Supplies oxygenated blood to heart muscles
c. Vena-Cava i11. Brings deoxygenated blood to lungs

d. Coronary artery 1v. First artery to leave heart

v. Brings deoxygenated blood to heart

Options:
a-1 b-1 c - 111 d-1v

a-1il b-1v T § d-v



a-1iv b-1 Gy d-1

a -1V hey &= d- 11

Question Number : 166 Question Id : 6232172339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match List — I with List — IT and select the correct answer from the codes given below:

List -1 List —1II
a. BM.L 1. Leanness
b. Body composition 11. Performance related fitness
c. Explosive strength 111. Health related fitness
d. Ponderal Index 1v. Obesity
Options:
, @ b-1v C - 111 d-u
,a-1v  b-ul c-11 d-1
a-um1  b-u c-1 d-1v
=
a- 1 b-1 C-1vV d - 111
4

Question Number : 167 Question Id : 6232172340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match List — I with List — IT and select the correct answer from the codes given below:

List -1 List —1II
a. Penalty corner 1. Volleyball
b. Throw in i1. Shot Put
c. Libero ii1. Hockey
d. Toe Board 1v. Football

Options:

a-i1 b-u1  c-tv d-1



a-i bl cdiii  d-iv
_a-iv b cdii  d-ii

a-i11 b-1v c-1 d-n
4.

Question Number : 168 Question Id : 6232172341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0

Match List — I with List — IT and select the correct answer from the codes given below:

List—1 List —1I
a. F-test 1. Co-efficient of correlation
b. Measuring central tendency 11. Standard Deviation
c. Test of correlation 111. ANOVA
d. Measuring variability iv. Median
Options:
1 a-1 b-111 ¢ d-v

a-i1 b-iv c-1 d-n
a-iv  b-11 c-111  d-1
a-i1  b-1 c-1v  d-ii1

Question Number : 169 Question Id : 6232172342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match List — I with List — IT and select the correct option using the codes given below:

List 1 List—II

I. Milk, Cheese, Yoghurt 1. Carbohydrates
II. Meat, Poultry, Fish 2. Minerals
III. Vegetables 3. Protein

IV. Bread, Cereal. Rice 4. Vitamin



Options:

2 I4 N3 IV-]

1

I-1 I1I-4 1II-3 IV-2

2

-2 II-1 III-4 1IV-3

o

-2 II-3 II-4 IV-1

4.

Question Number : 170 Question Id : 6232172343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match List-I with List-IT and select the correct option using the codes given below:

List—1 List - 11
I. Law of Inertia 1. Reaction Force
II. Law of Acceleration 2. Elasticity
ITI. Law of Action and Reaction 3. Concept of Force
IV. Law of Rebound 4. Momentum
Options:
, Fl 12 13 V-4

I-3 II-4 III-2 IV-1

-4 II-1  III-2 IV-3

-3 1I-4 II-1 IV-2

Question Number : 171 Question Id : 6232172344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Match List — I with List — IT and select the correct answer from the code given below:

List—1 Last - I

I. Femur 1. Longest muscle
I1. Sartorius 2. Master gland
ITI. Liver 3. Longest bone

IV. Pituitary gland 4. Largest gland

Options:

I-1 I1-2 I1I-3 V-4

I-2 II-3 I11-4 IV-1

2.
.. A4 II-2 III-1 IV-3
g A II-1 111-4 V-2

Question Number : 172 Question 1d : 6232172345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Match List — I with List — II and find the correct option using the codes given below:

List—1I List —1II
I. Speed play 1. Cardio respiratory endurance
II. Aerobics 2. Strength

LS )

ITI. Muscle cross section . Reaction ability

IV. Sensory method 4. Fartlek
Options:
, =3 I1-4 II1-2 IV-1
5 Ind II-1 I11-2 IV-3
I-1 I1-2 I11-3 V-4



I-2 II-3 I11-4 IV-1

Question Number : 173 Question Id : 6232172346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
. Match List — I with List — IT and select the correct answer from the codes given below:

List—1 List—1I
[. Systemic circulation 1. Supply of O; & Nutrients to all parts
I1. Coronary circulation 2. Supply of Oz & Nutrients to Heart muscle

III. Pulmonary circulation 3. Purification of blood

I'V. Renal circulation 4. Separating urine from blood
Options:
1 I-4 I1-3 I11-2 IV-1
, I-2 II-1 I11-4 IV-3
o 450 I1-4 IT1-1 IV-2
I-1 II-2 II1-3 V-4
4

Question Number : 174 Question Id : 6232172347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match List — I with List — IT and select the correct option from the codes given below :

List — I List —II
(a) Strap muscle (1) Flexor pollicis longus
(b) Unipennate muscle (1) Deltoid
(¢) Bipennate muscle (111) Sternocleidomastoid

(d) Multipennate muscle  (1v) Gastrocnemius

Options:



L@ O (@) (D))
@) -G (-6 (@)
@) @) (©-Gv) (@)
, @-Gv) G (-G) ()i

Question Number : 175 Question Id : 6232172348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
85. Match List — I with List — II and select the correct option from the codes given below :

List — I List —1I
(a) Vitamm A (1) Osteomalacia
(b) Vitamm B,  (i1) Decreased Prothrombin in blood
(¢) VitaminD  (111) Keratomalacia
(d) Vitamin K  (iv) Beriberi
Options:

(-  (b)-(1)  (e)-av)  (d)-(111)

@D -G (@) (@)

(@)-(u) (b)-av)  (0)-()  (d)-(1)

=

, @) (D) ©-() (@)

Question Number : 176 Question Id : 6232172349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0



Match List — I with List — IT and select the correct option from the codes given below :

List — I List — I1
(a) Historical Research (1) Current status
(b) Action Research (11) Control of variables
(¢c) Survey Research (111) Natural setting

(d) Experimental Research (1v) Local problem
(v) Past oriented

Options:

@) -G (©-GY) (D))
@ O (@) (@G

L@ OO @GV (@i
L@ -0 (@) (@)

Question Number : 177 Question Id : 6232172350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match List — I with List — II and select the correct option from the code given below :

List-1 List - 11
(a) ATP () Sustained Power
(b) ATP+PctLactic Acid (i) Aerobic endurance
(c) ATP+Pc (1if) Strength - Power

(d) Electron Transport- oxidative Phosphorylation  (iv) Anaerobic Power-endurance

@ b (@) -

, @) O @) (D)
@) O (@0 ()



(@)-(v)  (b-(1)  (o)-(u)  (d)-(um)

Question Number : 178 Question 1d : 6232172351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: O
Match List — I with List — IT using the code given below :

List -1 List —11

a. Asanas 1. Breath control

b. Pranayama 11. Self realization

c. Dyana 111. Posture

d. Samadhi 1v. Concentration
Options:

a-1v b-111 c-11 d-1
1.

a-11 b-1 C-1V d-111
2.
. a-111 b-1 c-1V d-11
. a-1 b-11 c-1V d-111

Question Number : 179 Question Id ;: 6232172352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
. Match List I with List IT and select the cotrect option using the codes given below:

List1 List I
a. Fosbery flop I) Relay race
b. Glide technique IT) Long jump
c. Hitch kick ITT) Shot put
d. Snatch baton pass IV) High jump

V) Triple jump

Options:



IV bIl oI dII
, a-IV b-IT oI dl
a-lll BHO eIV 4V
alll bIO ¢V dI

Question Number : 180 Question Id : 6232172353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Wrong Marks: 0
Match List I with List IT and select the correct option using the codes given below:

ListI List IT
I.  Anatomical age 1. Bone Ossification
II.  Chronological age 2. Intelligence Quotient

. Calendar Year, Months, Days

(78]

III.  Physiological age

IV. Mental age 4. Secondary Sex Characteristic

Options:

I-3 II-2 III-1 V-4

L

I-4 II-1 I11-2 IV-3

I-1 II-3 I11-4 IV-2

5

I-2 II-3 I11-1 V-4

4.



